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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Ueh ‘' Shfeush '’ YR 1§ faeh Fd i 40 § qen
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




T Teh / PART ONE

( it U9l ok AT / Answer all the questions )

1.1

el Uieh U9 ok ST ok ohi [dehed foU T
¥ T geR Suged faseq o ofv =@
Y U oh W17 SUCTe! Shird T 3w’
I e |, A fou e fEei & o e,
Skcad

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein.

(1x10)

Frefafad de g =i 318eye J1d i

a = “Meetmeafterparty”

b=13

printa + b

(A) 29 (B) 14
(C) errorincode (D) 15

Find the output of following Python
Programs.

a = “Meetmeafterparty”

b=13

printa+b

(A) 29 (B) 14
(C) errorincode (D) 15

1.2 Tr=fafed wges 9m i =y 91 &Y :

1.3

class Acc:

def_init (self, id):

self.id = id

id = 555

acc = Acc(111)

print acc.id

(A) 111 (B)
(C) 666 (D)

Find the output of the following Python
programs.

555

error in code

class Acc:
def_init (self, id):
self.id = id

id = 555

acc = Acc(111)

print acc.id

(A) 111 (B) 555

(C) 666 (D) error in code
frefafad # 9 =F @1 T @y aiued 2
(A) my_string 1

(B) foo

© -

(D) 1st_string

Which of the following is an invalid
variable ?

(4)
(B) foo

©

(D) 1st_string

my_string_1
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1.4 TrAfaREd IEe TR & 38eYe 9d &L : | 1.6 Ffafad IEae YRIM &l 38eye 91 &Y :
x = [‘ab’, ‘cd’]

foriin x: def gfg(x,1=[]):
iupper()

print(x) for i in range(x):
(A) ab

(B) «d Lappend (i*i)

(©) T[ab/, ‘cd]
(D) ['cd’, “ab’]

print(l)
Find the output of the following Python
programs. (o
X = [lab/, /Cd/] g g( )
foriin x:
i.upper() (A) [3,21,01,4]
print(x)
(A) ab B) [0, 1]
(B) «cd
(C) [ab,‘cd’] © 10,101, 4]
(D) [lCdII lab/]

(D) error in code

1.5 frefafed Jum & sseqe #1e?
Find out the output of the following

a=2
b = 1377 Python programs :
c=8 , def gfg(x1=[ )
strl = “{0:4f} {0:3d} {2} {1}. format (a, b, c)
rint(strl
?A) (2.00)00 28377 for 1 in range(x):
(B) 23.77-8377
(C) 2.000 3 -8 3.77 Lappend(i*i)
(D) 2.000 2 8 3.77
What is the output of the following print(l)
program ?
a=2 8f8(2)
b =377
c=-8 (A) [3,2,1,0,1, 4]
strl = “{0:4f} {0:3d} {2} {1}. format (a, b, c)
print(str1) (B) [0, 1]
(A) 2.0000 2 -8 3.77
(B) 23.77-83.77 Q) 1[0,1,0,1,4]
(C) 2.000 3 -8 3.77
(D) 2.000 2 8 3.77 (D) error in code
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1.7 WA fF t= (1,2 4,3), Frafafed § @ ==

1.8

1T 2

(A) print (t [3)
(B) t[3]=45

(C)  print(max(t)
(D) print (Len(t))

Suppose t = (1, 2, 4, 3), which of the
following is incorrect ?

(A) print (t [3])
(B) t[3]=45

(C) print(max(t))
(D) print (Len(t))

~

frefafad Tgem sie o1 I8y &1 8 2

>>>t1=(1, 2, 4, 3)
>>>t2=(1, 2, 3, 4)
>>>t]<t2

(A) True

(B) False

(€) Error

(D) (1,2 4,3)

What will be the output of the following
Python code ?

>>>t1=(1, 2, 4, 3)
>>>t2=(1, 2, 3, 4)

>>>t1<t2

1.9 s & IR # fF=fafed e § 9 = @

T © 2

(A) T Refde HeRM 61 TH 98 HE
3eI9 BT <AfET

(B) e 9% F¥ I Seoi@ UK &I H T
feren o &1 @ ST R & e ©

(C) T Rhfda %M I ol gz |
ST ST 8

(D) ¥ Rewfda Tere 1 T Red 9
o9 BT =1fey

Which of the following statements is false

about recursion ?

(A) Every recursive function must have
a base case

(B) Infinite recursion can occur if the
base case isn’t properly mentioned

(C) Arecursive function makes the code
easier to understand

(D) Every recursive function must have
a return value

1.10 TrAfafEd Iy *re =1 STy =1 3 2

import functools

1=[1, 2, 3, 4, 5]
m=functools.reduce(lambda x, y:x if x>y
elsey, 1)

print(m)

(A) Error

(B) Address of m

< 1

(D) 5

What will be the output of the following
Python code ?

import functools

1=[1, 2, 3, 4, 5]
m=functools.reduce(lambda x, y:x if x>y
elsey, 1)

print(m)

(A) Error

(B) Address of m
O 1

(D) 5
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2.1

2.2

2.3

24

2.5

2.6

2.7

2.8
2.9

2.10

it o T uees faemor ar |t w@t g srerar
T | Teh Tad Suger faehed I 3 30
U9 U ok | SUeTel Tt T 3TTHaTR
IO UAek U, 3AW fou T e & oFEn,
T Y (1x10)
EYF Ueh 3o WY, THeh S areft, geifaea
3R =g smenfia farfen o €1 a% ot
3T B o foTT ToR &1 7% R |

2o g 31 oitash 9 ot T2 § T wnfae
AL, Hgar-3, C, C++, STA-68, T
2 IR g 9 SR o1 feRfen e
e € |

e | fohdt foRiy e o fole T 9 31y
IER TEETHE AR foht T AR 2Afssiae
EY A1 AFHCH & ER i B € o
SN SAEATET & &Y H ST Tl & |
29 H HHl Tk g o oy, 39 g8 ™
SUeTsd] e YTl i o foTl o 31 Ferehichi
& I AT o fAT SR shisseh ol ST
|

TIEY THTl & ol qgeE OHe dEed
SB-API ¥ 3iferenisl qrzed 2@ Se0hY
39 HHF 1 U i © |

afe 21 |id % WY Y9k T1fd g1 Sfran @
FHARM T AT & S T 3R ST 39T %
fou St & A9 1 S T, ST Srell @
None H 92 foan Sar g1

tell() HYE STYeh! HEA o 3T AN feefd
FA R |

T 29 UfeTHed W B HE B |

Teett faft_init_() T fosi fafy €, 58 som
Hgat a1 sl fafy ser S ®
S8 Uy hict AN § Tl 3T IH FAH H
Teh 91 SR a1 & |

& T UEeH TBRe T 39aTe & 330 &,
Al S A1 Al STIATS SRl G HHIHT (ST 3T
TE AT B S § ST o &1 St ¢ |

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR”
answer sheet supplied with the question
paper, following instructions therein.

(1x10)
Python is a high-level, interpreted,
interactive and object-oriented scripting
language. It is designed to be highly
unreadable.

Python is derived from many other
languages, including ABC, Modula-3, C,
C++, Algol-68, SmallTalk, and Unix shell
and other scripting languages.

In Python assignment of more than one
behaviour to a particular function and the
operation performed varies by the types
of objects or arguments involved are
known as operator overloading.

To access values in tuple, use the square
brackets for slicing along with the index
or indices to obtain value available at that
index.

The Python standard for database
interfaces is the Python SB-API. Most
Python database interfaces adhere to this
standard.

If a connection is established with the
datasource, then a Connection Object is
returned and saved into db for further use,
otherwise db is set to None.

The tell() method tells you the current
position within the file.

Removing individual tuple elements is
possible.

The first method_init_() is a special
method, which is called class constructor
or initialization method that Python calls
when you create a new instance of this
class.

When a Python script raises an exception,
it must either handle the exception
immediately otherwise it terminates and
quits.
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3. ohic X W fau T v1sa) X et et et shiem Y ® fou o frerean wwsitua arel )/ vregi/
aTeRil | eht | 3TUH faehed U9 U o are fau g ¢ Sfiumei ' 3ot vk W, e feu Tu SR

T UTET hid gU, ot et | (1x10)
e X HicH Y
3.1 |[W@ fwet off Jof | =& et § A. |time.altzone
3.2 |eTriHed o fau sTdfae deg faffie 1 T § B. |tuple(seq)
23 T TIEA ! T e H Tgd iR foaem <Hi & ¢ leemg
feTe wireran &
3.4 [ThaH Ak RIS ok WY T B § D. [ T
3.5 |ifee =t <@ @ e Bt & E. |rb+
3.6 |fafy oo s SERER I Yo #d § F. [Tleed
3.7 |euHg SITHSl TEH SH I ATHHE G. [L[-2]
3.8 |u fore &) euat # ufafdd s @ H. |def
3.9 [WiEe o e AqHM Teufd gl § I |del
3.10 |Ush HHUl 2UET ] TR €9 H M1 S J. |getcwd()
K. |[fgeaa ™
L. |Rb-
M. (L[-1]
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3. Match words and phrases in column X with the closest related meaning/word(s)/
phrase(s) in column Y. Enter your selection in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10)
Column X Column'Y
3.1 |Error does not fall into any category time.altzone
3.2 |The arguments have invalid values specified tuple(seq)
33 ](DDIEEII:; ?Of:'rllel af:r both reading and writing in tell()
3.4 |Function blocks begin with the keyword Value Error
3.5 [Negative count from the right rb+
3.6 |Method displays the current working directory Runtime Error
3.7 |The offset of the local DST time zone L[-2]
3.8 |Converts a list into tuple def
3.9 |Shows current position within the file del
3.10 |Explicitly remove an entire tuple getcwd()
Syntax Error
Rb-
L[-1]
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4.1

4.2

4.3
4.4
4.5

4.6
4.7
4.8

4.9

4.10

el Uk 9T | el €1 8 9el | Ueh Y1 O ATk o foree o foar e e §) v
Iugert faehed o 3T S0 U9e U o W1el feu T ¢ 3w’ Se v W, 36 fau T e

% AR, TS A (1x10)
(A) [time.time() (B) |24 (©) |wifafas (D) [g=+
(E) |etfersh (F) [<Tehe aRwsied | (G) &=l (H) [T = g
D) |wwH () |sitesrE (K) [#= (L) [Trerd
M) [fer 5%
frefafed aeem gRm @1 sseye © |

r =lambda q: q * 2
s =lambda q: q * 3
x=2

x = r(X)

x = s(x)

X = 1(x)

print x

frfafad TEge se W faar &1 :
a =True

b = False

c = False

if aor b and c:

print “TRUE”

else:

print “FALSE”

Y HIS Hl TR |

Ai-Renfda ThaeH &t gar # Refda e am=a: AR T o B |
RIECER DI U RCICE BRI gioa &l T o |

TR aN-SE! WA A1 YIHT i qeheieh o1 gre & & ool #re & 3T
NIECRESIES

i< IZH T2, Al & o T Yohs ol Teh FAlTT-4iZe &A1 AR &1
TR oA § 9t Aee (smfEeE) g1 e ol St € |

%l herel 3H HRM % el TR Toran ST Hehdl & S = sifvq foren e §, Sieifen
Sftass afEee #1 Tt TR grR1 9o SiEl H IE 9 3fd q% T foRan S wehdr €1

T0ew IR giedi & o A i ® f ouew gl & fauda aca 76 S wehd ¥ oiR Tuew
1 3TN A ¥, eIk il o IS 1 ST I ¢ |

39 HEA3T ! Yook o T T TRl sl T 9 TR 9 ga sifveafad § ofiafe &9 9
Rafdd e B1 ifehd wyft-hed, IeieX T STavehdleli %l QU & & ¢ T
TEA I Tk Tl ¥ TR TR | T 9 § 7 & ¢ |
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4.1

4.2

4.3
4.4
4.5

4.6

4.7
4.8

4.9

4.10

Each statement below has a blank space to fit one of the word(s) or phrase(s) in the
list below. Enter your choice in the “OMR” answer sheet attached to the question

paper, following instructions therein. (1x10)
(A) [time.time() (B) |24 (C) |[parentheses | (D) |reference

(E) |more (F) |local variables | (G) |TRUE (H) [Guido van Rossum
(I) [function (J) |objects (K) [less (L) |[FALSE

(M) [Tim Berner

The output of following Python program is
r =lambda q: q * 2
s =lambda q: q * 3

x=2

x = 1(X)
x = s(x)
X = r(x)
print x

Let consider the following Python code

a = True
b = False
c = False

ifaorbandc:

print “TRUE”

else:

print “FALSE”

the output of this code is

Recursive functions usually take memory space than non-recursive function.
Python programming language was created by

Python supports Object-Oriented style or technique of programming that encapsulates code
within .

returns the current time instant, a floating-point number of seconds since the
epoch.

All parameters (arguments) in the Python language are passed by

The can be accessed only inside the function in which they are declared, whereas
global variables can be accessed throughout the program body by all functions.

The differences between tuples and lists are, the tuples cannot be changed unlike lists and
tuples use whereas lists use square brackets.

Python converts numbers internally in an expression containing mixed types to a Common
type for evaluation. But sometimes, coerce a number explicitly from one type to another to
satisfy the requirements of parameter.
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W &1 / PART TWO

Write a Python program to compute

( forel =T U H 3?1'{‘% / ;}6123 é?scitgrrli,al of a given number using
Answer any FOUR questions) (b) Define mutable and immutable data
type. Explain the concept of Linear
. a and Binary search wi on
5. (a) T UEUA YU sl fromfed i & fog d Binary h with Pyth
eI G ST dfh T2 fored| (©) Write code snippets in Python t
St T Sof c rite code snippets in Python to
(b) g & STSIE perform Accessing Elements of a
3R = # | Tuple.
r =lambda q: q * 2 (3+8+4)
s=lambdaq;q*3 (a) 39 TH Yohs 1 FY giera IR e
x =2 S ? IUTH < T SETeL0 o 1o THH!
x = 1(x) ST |
=§g (b) Frefafed % smen w
print x (1) T TS E, l .
(c) e ¥ AE 1 wEEA FE fwe s " %1) 5"1.@11 @@'i:"ll%'fa? ) .
T : a ow will you create a Package an
87 \3@ WHTH%G‘LWWW import it ? Explain it with an
A H Heg ol © A1 Sifaek fareemor example program.
T (b) Explain the following :
(a)  Write the basic steps required by the (i) List Slicing
interpreter to execute a python (i) ~List Accessing Methods (7+8)
program. N
(b) Predict and explain the output of (@) SHI \ﬂl{{g\aﬁ AT | ’?‘gsﬁaﬁ
r =lambda q: q * 2 (b) UIRYT &AZH <hl SHTEAT | &A1Y hl
s =lambdaq:q*3 fa<o fod 3R s9& s o == L |
x=2 (a) Ilustrate the LEGB rules and its
x =1(x) significance with help of suitable
x = s(x) diagram.
x = 1(x) (b) Explain about Python slice. Write
print x the syntax of slice and discuss about
() How memory is managed in it. (7+8)
Python ? Give the tools name that .
help to find bugs or perform static (@) NumPy sl 9 ? NumPyﬁigh_@
analysis ? (5+5+5) TG ?
. (b) TR IR TR § ST fRy STH
6. (a) %imgiqungﬁﬁi“éqm ATl Gelleh! I AT R | ST,
Tt 1 o k&g T2 HIE ford SN & E & 2o % fog
Tge Wi ferd | AT TR |
(b) YiEda 3R STRad-1a 821 YR i (a) Define NumPy ? How to create
R €1 U WM % He SR NumPy Array ?
S o= = = (b) Explain Flowchart and symbols
; e SAHRAT 1 e used in flowchart. Write the
Eadl Algorithm, pseudo code and draw
(c) U ¥ qum” qcat & foes & fere the flowchart for Towers of Hanoi.
TeeE H e feied fag | 00o. (6+9)
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